Full
BE 0.05
BE 0.5

BE 0.05+Ridge =

BE 0.5+Ridge
Lasso
Ridge
Elastic

Full
BE 0.05
BE 0.5

BE 0.05+Ridge =

BE 0.5+Ridge
Lasso
Ridge
Elastic

Full
BE 0.05
BE 0.5

BE 0.05+Ridge =

BE 0.5+Ridge
Lasso
Ridge
Elastic

Full
BE 0.05
BE 0.5

BE 0.05+Ridge =

BE 0.5+Ridge
Lasso
Ridge
Elastic

Full
BE 0.05
BE 0.5

BE 0.05+Ridge =

BE 0.5+Ridge
Lasso
Ridge
Elastic

Full
BE 0.05
BE 0.5

BE 0.05+Ridge =

BE 0.5+Ridge
Lasso
Ridge
Elastic

Calibration slope

EPV=2.5 EPV=5 EPV=10
ol ol ol
o| o q o
‘ Y 3 S
o q q S
1 I . T, 3
| . | . |e
ol ol of o
o| o q g
" Y I =
] 1 ‘r f
| . L. le @
ol ol ol o
o| o| q §
" Y 1 o
] 1 ‘r 3
T I T 7 T I T * .I T T T I: T T w
0 8 12 16 0 4 8 12 16 0 4 8
Calibration slope
EPV=2.5 EPV=5 EPV=10
. ! ° 1 o |
e | e | e | -
S ol ol -
. | ° | . | 8
9 L 1° . I, -
| . | o [
. I ° I o |
e | e | o | 3_1
| o | ‘|
< | o B
1 [ ) I. L) I.. a
| . | o [
. I ° I o |
[ .| o o
o | ol ol <
.| .| .| o
1 X 1* ., I, @
T ! T ° T T ! ° T T T T Ib T T
0 1 2 3 4 0 1 2 3 4 0 1 2 3



